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Test Series: November, 2021 

MOCK TEST PAPER - 2 

FINAL (NEW) COURSE: GROUP – I  

PAPER – 1: FINANCIAL REPORTING 

ANSWERS 

1. (a) Monetary items are units of currency held and assets and liabilities to be received or paid in a 
fixed or determinable number of units of currency.  Para 15 of Ind AS 21 states that the essential 
feature of a monetary item is a right to receive (or an obligation to deliver) a fixed or determinable 
number of units of currency.  Similarly, a contract to receive (or deliver) a variable number of the 
entity’s own equity instruments or a variable amount of assets in which the fair value to be 
received (or delivered) equals a fixed or determinable number of units of currency is a monetary 
item.  

  Conversely, the essential feature of a non‑monetary item is the absence of a right to 
receive (or an obligation to deliver) a fixed or determinable number of units of currency.  

  On the basis of above principles, the line items of trial balance should be bifurcated as 
follows: 

Particulars Monetary item / Non-
monetary item 

Share Capital Non-monetary item 

Securities Premium reserve on issue of equity shares Non-monetary item 

Retained earnings Non-monetary item 

Long-term borrowings Monetary item 

Deferred tax liability Non-monetary item  

Income tax payable Monetary item 

Import duty payable Monetary item 

Employee benefits payable Monetary item 

Sundry trade payables Monetary item 

Property, plant and equipment (net of depreciation) Non-monetary item 

Computer software (net of amortization) Non-monetary item 

Inventories purchased (there is no indicator of impairment) Non-monetary item 

Cash and bank balance Monetary item 

Sundry trade receivables Monetary item 

Allowance for doubtful trade receivables Monetary item 

  As per para 38 of Ind AS 21, an entity may present its financial statements in any currency 
(or currencies).  If the presentation currency differs from the entity’s functional currency, it 
translates its results and financial position into the presentation currency.  For example, when a 
group contains individual entities with different functional currencies, the results and financial 
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position of each entity are expressed in a common currency so that consolidated financial 
statements may be presented. 

(b) Translation of the balances for the purpose of consolidation 

Particulars INR in 
crore 

Rate 
(GBP) 

Amount in 
GBP 

Property, plant and equipment (net of depreciation) 550.0 0.0109 5.995 

Computer software (net of amortization) 70.0 0.0109 0.763 

Inventories  200.0 0.0109 2.18 

Cash and bank balance 5.0 0.0109 0.0545 

Sundry trade receivables net of allowance for doubtful 
trade receivables (17.0-2.0) 

 
  15.0 

 
0.0109 

 
0.1635 

Total Assets 840.0     9.156 

Share Capital 500.0 0.0123  6.15 

Securities Premium reserve  150.0 0.0123 1.845 

Retained earnings 110.0 0.0116 1.276 

Long-term borrowings 30.0 0.0109 0.327 

Deferred tax liability 10.0 0.0109 0.109 

Income tax payable 25.0 0.0109 0.2725 

Import duty payable 5.0 0.0109 0.0545 

Employee benefits payable 7.5 0.0109 0.08175 

Sundry trade payables 2.5 0.0109 0.02725 

Foreign Currency Translation reserve recognised in 
OCI (balancing figure) 

 
  

  
 (0.987) 

Total Equity and liabilities 840.0     9.156 

(b) As illustrated in per para 32 of Ind AS 8, Change in method of depreciation is a change in 
accounting estimates. 

  Considerations in determining whether the change in depreciation methodology is 
appropriate: 

  Paragraphs 60 and 61 of Ind AS 16, Property, Plant and Equipment, state that the 
depreciation method used shall reflect the pattern in which the asset’s future economic benefits 
are expected to be consumed by the entity.  

  The depreciation method applied to an asset shall be reviewed at least at each financial 
year-end and, if there has been a significant change in the expected pattern of consumption of 
the future economic benefits embodied in the asset, the method shall be changed to reflect the 
changed pattern.  

  Accounting procedure: 
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  Such a change is accounted for as a change in an accounting estimate in accordance with  
Ind AS 8.  

  Depreciation is a function of several factors, with extent of usage and efflux of time being its 
primary determinants.  The hours-in-use method relates the amount of periodic depreciation 
charge only to one of the above two factors, namely, the extent of usage as reflected by the 
number of hours.  This method may therefore be said to be appropriate as per para 62 of Ind AS 
16. 

  Determination of depreciation method involves an accounting estimate; depreciation method 
is not a matter of an accounting policy.  Accordingly, as per Ind AS 8 and Ind AS 16, a change in 
depreciation method shall be accounted for as a change in accounting estimate, i.e; 
prospectively. 

  However, given the possibility that the asset will be depreciated over a period longer than it 
would be under SLM basis, the company will need to assess if there are any impairment triggers 
and carry out impairment testing as required under Ind AS 36.  

2. (a) Computation of the cost of the factory 

Description Included in P.P.E.  
` ’000 

Explanation 

Purchase of land 10,000 Both the purchase of the land and the 
associated legal costs are direct costs 
of constructing the factory. 

Preparation and levelling 300 A direct cost of constructing the factory 

Materials 6,080 A direct cost of constructing the factory 

Employment costs of 
construction workers 

1,400 A direct cost of constructing the factory 
for a seven-month period 

Direct overhead costs 700 A direct cost of constructing the factory 
for a seven-month period 

Allocated overhead costs Nil Not a direct cost of construction 

Income from use as a car 
park 

Nil Not essential to the construction so 
recognised directly in profit or loss 

Relocation costs Nil Not a direct cost of construction 

Opening ceremony Nil Not a direct cost of construction 

Finance costs 612.50 Capitalise the interest cost incurred in a 
seven-month period (purchase of land 
would not trigger off capitalisation since 
land is not a qualifying asset.  Infact, 
the construction started from 1st May, 
20X1) 

Investment income on 
temporary investment of the 
loan proceeds 

(100) offset against the amount capitalised 

Demolition cost recognised  Where an obligation must recognise as 
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as a provision          920 part of the initial cost 

Total 19,912.50  
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Computation of accumulated depreciation 

Total depreciable amount 9,912.50  All of the net finance cost of 512.50 
(612.50 – 100) has been allocated to 
the depreciable amount.  

Depreciation must be in two parts: 

Depreciation of roof component 

Depreciation of remainder 

 

 
 

49.56 

57.82 

 

 
 
9,912.50 x 30% x 1/20 x 4/12 

9,912.50 x 70% x 1/40 x 4/12 

Total depreciation     107.38  

Computation of carrying amount 19,805.12 19,912.50 – 107.38 

 (b) (i) Assessment of manufacturing unit whether to be classified as held for sale 

 The manufacturing unit can be classified as held for sale due to the following reasons: 

(a) The disposal group is available for immediate sale and in its present condition.   The 
regulatory approval is customary and it is expected to be received in one year.  The 
date at which the disposal group is classified as held for sale will be 31st July, 20X2, 
i.e. the date at which management becomes committed to the plan. 

(b) The sale is highly probable as the appropriate level of management i.e., board of 
directors in this case have approved the plan. 

(c)  A firm purchase agreement has been entered with the buyer. 

(d) The sale is expected to be complete by 31st March, 20X3, i.e., within one year from the 
date of classification. 

(ii) Measurement of the manufacturing unit as on the date of classification as held for 
sale 

 Following steps need to be followed: 

 Step 1: Immediately before the initial classification of the asset (or disposal group) as held 
for sale, the carrying amounts of the asset (or all the assets and liabilities in the group) shall 
be measured in accordance with applicable Ind AS. 

 This has been done and the carrying value of the disposal group as on 31st July, 20X2 is 
determined at ` 5,200 lakh.  The difference between the carrying value as on  
31st December, 20X1 and 31st July, 20X2 is accounted for as per Ind AS 36. 

 Step 2: An entity shall measure a non-current asset (or disposal group) classified as held 
for sale at the lower of its carrying amount and fair value less costs to sell. 

 The fair value less cost to sell of the disposal group as on 31st July, 20X2 is  
` 3,500 lakh (i.e. ` 3,700 lakh - ` 200 lakh).  This is lower than the carrying value of  
` 5,200 lakh.  Thus, an impairment loss needs to be recognised and allocated first towards 
goodwill and thereafter pro-rata between assets of the disposal group which are within the 
scope of Ind AS 105 based on their carrying value.  
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 Thus, the assets will be measured as under:     (` in lakh) 

Particulars Carrying value – 
31st July, 20X2 

Impairment Carrying value as 
per Ind AS 105 –  

31st July, 20X2 

Goodwill 

 

Plant and Machinery 

 

Building 

Debtors 

Inventory  

Creditors 

Loans 

1,000 

 

1,800 

 

3,700 

2,100 

800 

(500) 

(3,700) 

   5,200 

(1,000) 

(Refer WN)  

(229) 

(Refer WN) 

 (471) 

- 

- 

- 

         - 

(1,700) 

- 

 

1,571 

 

3,229 

2,100 

800 

(500) 

(3,700) 

   3,500 

 Working Note:  

 Allocation of impairment loss to Plant and Machinery and Building 

 After adjustment of impairment loss of ` 1,000 lakh from the full value of goodwill, the 
balance ` 700 lakh (` 1,700 lakh – ` 1,000 lakh) is allocated to plant and machinery and 
Building on proportionate basis. 

 Plant and machinery – ` 700 lakh x ` 1,800 lakh / ` 5,500 lakh = ` 229 lakh (rounded off) 

 Building – ` 700 lakh x ` 3,700 lakh / ` 5,500 lakh = ` 471 lakh (rounded off) 

(iii) Measurement of the manufacturing unit as on the date of classification as at the year 
end 

 The measurement as at the year-end shall be on similar lines as done above. 

 The assets and liabilities in the disposal group not within the scope of this Standard are 
measured as per the respective standards. 

 The fair value less cost to sell of the disposal group as a whole is calculated.  This fair value 
less cost to sell as at the year-end shall be compared with the carrying value as at the date 
of classification as held for sale.  It is provided that the fair value as on the year end is less 
than the carrying amount as on that date – thus the impairment loss shall be allocated in the 
same way between the assets of the disposal group falling within the scope of this standard 
as shown above. 

 Measurement of the manufacturing unit as on the date of classification as at the year-end 
shall be on similar lines as done above. 

3. (a) If Ind AS is applicable to any company, then Ind AS shall automatically be made applicable to all 
the subsidiaries, holding companies, associated companies, and joint ventures of that company, 
irrespective of individual qualification of set of standards on such companies. 
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  In the given case it has been mentioned that the financials of Iktara Ltd. are prepared as per  
Ind AS.  Accordingly, the results of its subsidiary Softbharti Pvt. Ltd. should also have been 
prepared as per Ind AS.  However, the financials of Softbharti Pvt. Ltd. have been presented as 
per accounting standards (AS). 

  Hence, it is necessary to revise the financial statements of Softbharti Pvt. Ltd. as per  
Ind AS after the incorporation of necessary adjustments mentioned in the question. 

  The revised financial statements of Softbharti Pvt. Ltd. as per Ind AS and Division II to 
Schedule III of the Companies Act, 2013 are as follows: 

STATEMENT OF PROFIT AND LOSS  

for the year ended 31st March, 20X2 

Particulars Amount (`) 

Revenue from operations 10,00,000 

Other Income (1,00,000 + 20,000) (refer note -1)   1,20,000 

Total Revenue 11,20,000 

Expenses:  

Purchase of stock in trade 5,00,000 

(Increase) / Decrease in stock in trade (50,000) 

Employee benefits expense 1,75,000 

Depreciation    30,000 

Other expenses    90,000 

Total Expenses 7,45,000 

Profit before tax 3,75,000 

Current tax 1,25,700 

Deferred tax (W.N.1) 4,800 

Total tax expense 1,30,500 

Profit for the year (A) 2,44,500 

OTHER COMPREHENSIVE INCOME  

Items that will not be reclassified to Profit or Loss: 

Remeasurements of net defined benefit plans 

 

1,000 

Tax liabilities relating to items that will not be reclassified to Profit or 
Loss 

Remeasurements of net defined benefit plans (tax) [1000 x 30%] 

 
 

     (300) 

Other Comprehensive Income for the period (B)        700 

Total Comprehensive Income for the period (A+B) 2,45,200 
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BALANCE SHEET  

as at 31st March, 20X2 

Particulars (`) 

ASSETS  
Non-current assets  
Property, plant and equipment 1,00,000 
Financial assets  

Other financial assets (Long-term loans and advances) 40,000 
Other non-current assets (capital advances) (refer note-2) 50,000 
  
Current assets  
Inventories    80,000 
Financial assets  

Investments (30,000 + 20,000) (refer note -1) 50,000 
Trade receivables 55,000 
Cash and cash equivalents/Bank 1,15,000 
Other financial assets (Interest receivable from trade receivables) 51,000 

TOTAL ASSETS 5,41,000 
EQUITY AND LIABILITIES  
Equity  
Equity share capital 1,00,000 
Other equity 2,45,200 
Non-current liabilities  
Provision (25,000 – 1,000) 24,000 
Deferred tax liabilities (4,800 + 300) 5,100 
Current liabilities  
Financial liabilities  

Trade payables 11,000 
Other financial liabilities (Refer note 5) 15,000 

Other current liabilities (Govt. statuary dues) (Refer note 3) 15,000 
Current tax liabilities  1,25,700 

TOTAL EQUITY AND LIABILITIES 5,41,000 
 

  

© The Institute of Chartered Accountants of India



9 

STATEMENT OF CHANGES IN EQUITY  

For the year ended 31st March, 20X2 

A. EQUITY SHARE CAPITAL 

 Balance 
(`) 

As at 31st March, 20X1 - 

Changes in equity share capital during the year 1,00,000 

As at 31st March, 20X2 1,00,000 

B. OTHER EQUITY 

 Reserves & Surplus 

 Retained Earnings 
(`) 

As at 31st March, 20X1 - 

Profit for the year 2,44,500 

Other comprehensive income for the year         700 

Total comprehensive income for the year 2,45,200 

Less: Dividend on equity shares (refer note – 4)             - 

As at 31st March, 20X2 2,45,200 

DISCLOSURE FORMING PART OF FINANCIAL STATEMENTS: 

Proposed dividend on equity shares is subject to the approval of the shareholders of the 
company at the annual general meeting and not recognized as liability as at the Balance Sheet 
date.  
(refer note 4) 

Notes: 

1.  Current investment are held for the purpose of trading.  Hence, it is a financial asset 
classified as FVTPL.  Any gain in its fair value will be recognised through profit or loss.  
Hence, ` 20,000 (` 50,000 – ` 30,000) increase in fair value of financial asset will be 
recognised in profit and loss. However, it will attract deferred tax liability on increased value 
(Refer W.N). 

2.  Assets for which the future economic benefit is the receipt of goods or services, rather than 
the right to receive cash or another financial asset, are not financial assets. 

3.  Liabilities for which there is no contractual obligation to deliver cash or other financial asset 
to another entity, are not financial liabilities.  

4.  As per Ind AS 10, ‘Events after the Reporting Period’, If dividends are declared after the 
reporting period but before the financial statements are approved for issue, the dividends 
are not recognized as a liability at the end of the reporting period because no obligation 
exists at that time. Such dividends are disclosed in the notes in accordance with Ind AS 1, 
Presentation of Financial Statements. 
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5.  Other current financial liabilities: 

 (`) 

Balance of other current liabilities as per financial statements 45,000 

Less: Dividend declared for FY 20X1 – 20X2 (Note – 4) (15,000) 

 Reclassification of government statuary dues payable to  
 ‘other current liabilities’ 

 
(15,000) 

Closing balance   15,000 

Working Note: 

  Calculation of deferred tax on temporary differences as per Ind AS 12 for financial year  
20X1 – 20X2 

Item Carrying 
amount 

(`) 

Tax base 

(`) 

Difference 

(`) 

DTA / DTL @ 
30% (`) 

Property, Plant and Equipment 1,00,000 80,000 20,000 6,000-DTL 

Pre-incorporation expenses Nil 24,000 24,000 7,200-DTA 

Current Investment  50,000 30,000 20,000 6,000-DTL 

Net DTL 4,800-DTL 

(b) The income of ` 60,000 should be recognised over the three year period to compensate for 
the related costs. 

 Calculation of Grant Income and Deferred Income: 

Year Labour 
Cost  

Grant 
Income 

 Deferred 
Income 

 

 ` `  `  

1 1,30,000 21,667 60,000 x (130/360) 18,333 (40,000 – 21,667) 

2 1,10,000 18,333 60,000 x (110/360) 10,000 (50,000 – 21,667 – 18,333) 

3 1,20,000 20,000 60,000 x (120/360) - (60,000 – 21,667 – 18,333 – 
20,000) 

 3,60,000 60,000    

  Therefore, Grant income to be recognised in Profit & Loss for years 1, 2 and 3 are ` 21,667,  
` 18,333 and ` 20,000 respectively.  

  Amount of grant that has not yet been credited to profit & loss i.e; deferred income is to be 
reflected in the balance sheet.   Hence, deferred income balance as at year end 1, 2 and 3 are ` 
18,333,  
` 10,000 and Nil respectively. 
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4. (a)    Consolidated Balance Sheet of Ram Ltd. and its subsidiary, Krishan Ltd. 

as on 31st March, 20X2 

Particulars Note 
No. 

` 

I. Assets 

(1) Non-current assets 

(i) Property, Plant & Equipment 

(ii) Goodwill 

(2) Current Assets 

(i) Inventories 

(ii) Financial Assets 

(a) Trade Receivables 

(b) Cash & Cash equivalents 

Total Assets 

II. Equity and Liabilities 

(1) Equity 

(i) Equity Share Capital 

(ii) Other Equity 

(2) Non-controlling Interest (WN 4) 

(3) Current Liabilities 

(i) Financial Liabilities 

(a) Trade Payables 

(b) Short term borrowings 

Total Equity & Liabilities 

 

 

1 

2 

 

3 

 

4 

5 

 

 

 

6 

7 

 

 

 

8 

9 

 

 

17,20,000 

1,65,800 

 

3,42,800 

 

1,99,600 

    45,000 

24,73,200 

 

 

10,00,000 

7,30,600 

4,33,600 

 

 

1,49,000 

 1,60,000 

24,73,200 

  Notes to accounts 

   ` 

1. Property Plant & Equipment   

  Land & Building (3,00,000 + (3,60,000 + 2,00,000)) 8,60,000  

  Plant & Machinery (W.N.6) 8,60,000 17,20,000 

2. Goodwill  1,65,800 

3. Inventories   

  Ram Ltd. 2,40,000  

  Krishan Ltd. (72,800 + 30,000) 1,02,800 3,42,800 
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4. Trade Receivables   

  Ram Ltd. 1,19,600  

  Krishan Ltd.   80,000 1,99,600 

5. Cash & Cash equivalents   

  Ram Ltd. 29,000  

  Krishan Ltd. 16,000 45,000 

8. Trade Payables   

  Ram Ltd. 94,200  

  Krishan Ltd. (34,800 + 20,000) 54,800 1,49,000 

9. Short-term borrowings   

  Bank overdraft  1,60,000 

Statement of Changes in Equity: 

6. Equity share Capital 

Balance at the 
beginning of the 
reporting period 

Changes in Equity share 
capital during the year 

Balance at the end of the 
reporting period 

10,00,000 0 10,00,000 

7. Other Equity 

 Reserves & Surplus Total 

Capital 
reserve 

Retained 
Earnings 

Other 
Reserves 

Balance at the beginning of the 
reporting period 

  
0 

 
6,00,000 

 
6,00,000 

Total comprehensive income 
for the year 

 

0 

 
1,14,400 

  
1,14,400 

Dividends 0 (24,000)  (24,000) 

Total comprehensive income 
attributable to parent 

 
0 

 
40,200 

  
40,200 

Balance at the end of reporting 
period 

  
1,30,600 

 
6,00,000 

 
7,30,600 

Working Notes: 

1. Adjustments of Fair Value 

 The Plant & Machinery of Krishan Ltd. would stand in the books at ` 2,85,000 on  
1st October, 20X1, considering only six months’ depreciation on ` 3,00,000 total 
depreciation being ` 30,000.  The value put on the assets being ` 4,00,000 there is an 
appreciation to the extent of ` 1,15,000. 
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2. Acquisition date profits of Krishan Ltd. 

Reserves on 1.4.20X1 

Profit & Loss Account Balance on 1.4.20X1 

Profit for 20X1-20X2: Total (` 1,64,000 less depreciation ` 20,000) x 6/12 
i.e. ` 72,000;  

upto 1.10. 20X1 

Total Appreciation (1,15,000 + 2,00,000 + 30,000 – 20,000) 

 

Holding Co. Share (60%) 

2,00,000 

60,000 

 
 

72,000 

3,25,000 

6,57,000 

3,94,200 

3. Post-acquisition profits of Krishan Ltd. 

Profit after 1.10.20X1 [1,64,000-20,000]x 6/12 

Less: 10% depreciation on ` 4,00,000 for 6 months less 
           depreciation already charged for 2nd half of 20X1-20X2 on  
           ` 3,00,000 (20,000-15,000) 

Total 

Share of holding Co. (60%) 

72,000 

 
 

(5,000) 

67,000 

40,200 

4. Non-controlling Interest 

Par value of 1600 shares 

Add: 2/5 Acquisition date profits (6,57,000 – 40,000)  

Add: 2/5 Post-acquisition profits [WN 3] (67,000 x 40%) 

160,000 

2,46,800 

  26,800 

4,33,600 

5. Goodwill 

Amount paid for 2,400 shares  

Par value of shares 

Acquisition date profits share of Ram Ltd. 

Goodwill 

 

2,40,000 

3,94,200 

8,00,000 

 

(6,34,200) 

  1,65,800 

6. Value of Plant & Machinery 

Ram Ltd.  
Krishan Ltd. 
Add: Appreciation on 1.10.20X1 
 
Add: Depreciation for 2nd half charged on pre-revalued 
          value 
Less: Depreciation on ` 4,00,000 for 6 months 

 
2,70,000 
1,15,000 
3,85,000 

 
15,000 

(20,000) 

4,80,000 
 
 
 
 
 

3,80,000 
8,60,000 
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7. Profit & Loss account consolidated 

Ram Ltd. (as given) 

Less: Dividend 

Share of Ram Ltd. in post-acquisition profits (W.N. 3) 

1,14,400 

(24,000) 

 

90,400 

  40,200 

1,30,600 

(b)       Either 

Initial recognition of cattle 

 ` 

Fair value less costs to sell (`1,00,000 – `1,000 - `2,000)  97,000 

Cash outflow (`1,00,000 + `1,000 + `2,000) 1,03,000 

Loss on initial recognition 6,000 

Cattle Measurement at year end  

Fair value less costs to sell (`1,10,000 – 1,000 – (2% x 1,10,000)) 1,06,800 

  At 31st March, 20X2, the cattle is measured at fair value of ` 1,09,000 less the estimated 
auctioneer’s fee of ` 2,200).  The estimated transportation costs of getting the cattle to the 
auction of ` 1,000 are deducted from the sales price in determining fair value. 

(b)       OR 

(a) A Limited is related to C Limited because Mr. X controls A Limited and is a member of KMP 
of C Limited. 

(b) Still A Limited will be related to C Limited. 

(c) No, Still A Limited will be related to C Limited. 

(d) Yes, A Ltd. is not controlled by Mr. X.  Therefore, despite Mr. X being KMP of C Ltd., A Ltd., 
having significant influence of Mr. X, will not be considered as related party of C Limited. 

5. (a) (a) Extracts of Balance Sheet of Nivaan Ltd. as on 31st March, 20X2 

 ` in lakh 
Current Assets  
    Contract Assets- Work-in-progress (Refer W.N. 3) 9.0 
   
Current Liabilities  
    Contract Liabilities (Advance from customers) (Refer W.N. 2) 4.5 

 Extracts of Statement of Profit and Loss of Nivaan Ltd. as on 31st March, 20X2 

 ` in lakh 

Revenue from contracts (Refer W.N. 1) 18 

Cost of Revenue (Refer W.N. 1) (15) 

Net Profit on Contracts (Refer W.N. 1)     3 
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Working Notes: 

1. Table showing calculation of total revenue, expenses and profit or loss on contract 
for the year         ` in 
lakh 

 A & Co. B & Co. Total 

Revenue from contracts (40 x 30%) = 12  (30 x 20%) = 6 18 

Expenses due for the year (34* x 30%) = 10.2 (24 x 20%) = 4.8 15 

Profit or loss on contract   1.8 1.2   3 

 *Note: Additional rectification cost of ` 2 lakh has been treated as normal cost.  Hence total 
expected cost has been considered as ` 34 lakh.  Alternatively, in case this ` 2 lakh is 
treated as abnormal cost then expense due for the year would be ` 11.6 lakh (ie 30% of  
` 32 lakh plus ` 2 lakh).  Accordingly, with respect to A & Co., the profit for the year would 
be ` 0.4 lakh and work-in-progress recognised at the end of the year would be ` 4.4 lakh. 

2. Calculation of amount due from / (to) customers    ` in lakh 

 A & Co. B & Co. Total 

Billing based on revenue recognised in the books 12 6 18 

Payments received from the customers (13) (9.5) (22.5) 

Advance received from the customers     1   3.5     4.5 

3. Work in Progress recognised as part of contract asset at the end of the year 

` in lakh 

 A & Co. B & Co. Total 

Total actual cost incurred during the year 16 8 24 

Less: Cost recognised in the books for the year 31.3.20X2 (10.2) (4.8) (15) 

Work-in-progress recognised at the end of the year      5.8    3.2   9.0 

(b) As per Ind AS 10, the treatment of stated issues would be as under: 

(i) Adjusting event: It is an adjusting event as it is the settlement after the reporting period of 
a court case that confirms that the entity had a present obligation at the end of the reporting 
period.  Even though winning of award is favorable to the company, it should be accounted 
in its books as receivable since it is an adjusting event. 

(ii) Adjusting event: The sale of inventories after the reporting period may give evidence about 
their net realizable value at the end of the reporting period, hence it is an adjusting event as 
per Ind AS 10.  Zoom Limited should value its inventory at ` 40,00,000.   

(iii) Adjusting event: As per Ind AS 10, the receipt of information after the reporting period 
indicating that an asset was impaired at the end of the reporting period, or that the amount 
of a previously recognised impairment loss for that asset needs to be adjusted. 

 The bankruptcy of a customer that occurs after the reporting period usually confirms that the 
customer was credit-impaired at the end of the reporting period. 

© The Institute of Chartered Accountants of India



16 

(iv) Non–adjusting event: Announcing or commencing the implementation of a major 
restructuring after reporting period is a non-adjusting event as per Ind AS 10.  Though this 
is a non-adjusting event occurred after the reporting period, yet it would result in disclosure 
of the event in the financial statements,if restructuring is material. 

 This would not require provision since as per Ind AS 37, decision to restructure was not 
taken before or on the reporting date.   Hence, it does not give rise to a constructive 
obligation at the end of the reporting period to create a provision. 

6. (a) 1 April 20X1 

  A financial guarantee contract is initially recognised at fair value.  The fair value of the 
guarantee will be the present value of the difference between the net contractual cash flows 
required under the loan, and the net contractual cash flows that would have been required 
without the guarantee. 

Particulars Year 1 

(`) 

Year 2 

(`) 

Year 3 

(`) 

Total 

(`) 

Cash flows based on interest rate of 11% (A) 1,10,000 1,10,000 1,10,000 3,30,000 

Cash flows based on interest rate of 8% (B) 80,000 80,000 80,000 2,40,000 

Interest rate differential (A-B) 30,000 30,000 30,000 90,000 

Discount factor @ 11% 0.901 0.812 0.731  

Interest rate differential discounted at 11% 27,030 24,360 21,930 73,320 

Fair value of financial guaranteed contract 
(at inception) 

       
73,320 

Journal Entry  

Particulars Debit (`) Credit (`) 

Investment in subsidiary   Dr. 73,320  

To Financial guarantee (liability)  73,320 

(Being financial guarantee initially recorded) 

31 March 20X2 

  Subsequently at the end of the reporting period, financial guarantee is measured at the 
higher of: 

- the amount of loss allowance; and  

- the amount initially recognised less cumulative amortization, where appropriate. 

  At 31 March 20X2, there is 1% probability that Moon Limited may default on the loan in the 
next 12 months.  If Moon Limited defaults on the loan, Sun Limited does not expect to recover 
any amount from Moon Limited.  The 12-month expected credit losses are therefore `10,000 
(`10,00,000 x 1%). 

  The initial amount recognised less amortisation is `51,385 (`73,320 + `8,065 (interest 
accrued based on EIR)) – `30,000 (benefit of the guarantee in year 1) Refer table below.  The 
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unwound amount is recognised as income in the books of Sun Limited, being the benefit derived 
by Moon Limited not defaulting on the loan during the period. 

Year Opening balance EIR @ 11% Benefits provided Closing balance 

 `  ` ` 

1 73,320 8,065 (30,000) 51,385 

2 51,385 5,652 (30,000) 27,037 

3 27,037 2,963* (30,000) - 

* Difference is due to approximation 

  The carrying amount of the financial guarantee liability after amortisation is therefore ` 
51,385, which is higher than the 12-month expected credit losses of ` 10,000.  The liability is 
therefore adjusted to ` 51,385 (the higher of the two amounts) as follows: 

Particulars Debit (`) Credit (`) 

Financial guarantee (liability)  Dr. 21,935  

To Profit or loss  21,935 

(Being financial guarantee subsequently adjusted) 

31 March 20X3 

  At 31 March 20X3, there is 3% probability that Moon Limited will default on the loan in the 
next 12 months.  If Moon Limited defaults on the loan, Sun Limited does not expect to recover 
any amount from Moon Limited.  The 12-month expected credit losses are therefore ` 30.000 (` 
10,00,000 x 3%). 

  The initial amount recognised less accumulated amortisation is ` 27,037, which is lower 
than the 12-month expected credit losses (` 30,000). The liability is therefore adjusted to ` 
30,000 (the higher of the two amounts) as follows: 

Particulars Debit (`) Credit (`) 

Financial guarantee (liability)   Dr. 21,385*  

To Profit or loss (Note)  21,385 

(Being financial guarantee subsequently adjusted) 

* The carrying amount at the end of 31 March 20X2 = ` 51,385 less 12-month expected credit 
losses of ` 30,000. 

(b) (1)  Goodwill / capital reserve on the date of acquisition 

 The cost of the investment is higher than the net fair value of the investee’s identifiable 
assets and liabilities. Hence there is goodwill. Amount of goodwill is calculated as follows 

 ` 

Cost of acquisition of investment 1,25,000 

Blue Ltd.’s share in fair value of net assets of Green Ltd. on the date of 
acquisition (4,00,000 *25%) 

 
(1,00,000) 
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Goodwill      25,000 

 Above goodwill will be recorded as part of carrying amount of the investment.  

(2)  Share in profit and other comprehensive income of Gren Ltd. 

 ` 

Share in profit of Green Ltd. (40,000 x 25%) 10,000 

Adjustment for depreciation based on fair value 

(1,00,000 ÷ 20) x 25% 

 
(1,250) 

Share in profit after adjustment    8,750 

Share in other comprehensive income (10,000 x 25%) 2,500 

(3)  Closing balance of investment at the end of the year 

 ` 

Cost of acquisition of investment (including goodwill of ` 25,000) 1,25,000 

Share in profit after adjustments 8,750 

Share in other comprehensive income     2,500 

Closing balance of investment 1,36,250 
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